
LO: To be able to subtract a 3 digit number from a 3 digit number using expanded         

subtraction 

SC: I can set my work out correctly. 

I can exchange a ten for ten units 

I can take away the units 

I can take the tens 

I can count up what I have left and recombine to find the answer 

 

Expanded subtraction with exchanging 

 

234 – 117 = 117 

 

2 0 0  2 0    

1 0 0  3 0 1 4  

    1 0  7  

1 0 0  1 0 + 7  

 

162 – 125 = 

 

342 – 126 = 

 

536 – 117 = 

 

472 – 236 = 

 

…………………………………………………………………………………………………………………. 

Challenge: 

Can you work out the missing numbers in this subtraction sum? 

         

6 0 0  5 0   3 

1 0 0  3 0   7 

5 0 0 + 1 0 +   

 

 

 

 


